CHANGE OF VARIABLES

Find the Jacobian oxy) of the following transformation.

X=2U-3v

y=u+2v

Find the Jacobian Z((X’ y)) of the following transformation.

u,v

X=Uv

y =4u? +2v?

Find the Jacobian A%y.2) of the following transformation.
o(u,v,w)

X=2Uu+V—-W

y=3U+2v+2w
Z=U+V+W

Find the area of the ellipse by using a change of variables to transform the ellipse
2 2

X Y _tintoacircle.
4 9

Find the area of the ellipse by using a change of variables to transform the ellipse

2 2
X 116Y_—1 into acircle.
36 9

Find the volume of the ellipsoid by using a change of variables to transform the
2 2 2

ellipsoid XY i Z _tintoa sphere.
4 9 25

Find the area of the parallelogram with vertices (0,0),(1,0),(1,1)&(2,1) by using
linear equations and a change of variables to transform the parallelogram into a
rectangle.



